C(:Lair®

IR 8 LR R T RAR S4B E

PTZ 5B & E M E

VY XK—2Bs B AW ST BIREEZRBINIR)

NFRER : 3.0mm
WE\BIT : 2.9mm
MEIMZ 1 6.0mm
=S £ :23g/m

BRAZISES]: 40MPa
BRAESES]: 64MPa
B/ VEE7]: 160MPa
B/\SEHE: 30mm

BARE : 40 ~+100C 7% - @ :according to DIN 20024
{EEAIRE - MERMESH LRI FBEHGiYN 2.5 (static)
RGN TEF0Y 9 4 (Dynamic)
MR EFRINETTETIE
MR
M2
(] D)
|
S
JB1002-77 E] g -
JB1002-77
M HENESRS
PTABINERSL (R HES) A DS, (=)
(—)PTRIVAADNELE L (RNHHES)
TERRS RIBRS M1 M2 L | S | RNEEEELRS
PT-1 PT-00 M10x 1 M12x1.25 4 8 | 17 H1 |
PT-2 PT-00A1 L Mo M16 42 8 | 19 H2
PT-3 PT-00A2/D1-3/M14x1.5 M14x1.5 M16 46 12 | 19 . H2
PT-4 DI-3/M10x1 M10x 1 M16 42 8 | 19 . H2
. PT5  DI3M12x15 M12x1.5 M16 46 12 | 19 . H2
~ PTs6 DI-3/M18x1.5 M18x1.5 M16 - 46 12 | 24 H2
PT-7 DI-3/G1/4 G1/4 M16 46 12 | 19 H2
PT-8 BZ M12x1.5  M14x15 50 12 | 17 H3
PT-9 KF-1/M10x1 M10x 1 M16x1.5 46 115 19 H4
PT-10 KF-1/M12x1.5 | M12x1.5 M16x1.5 46 115 19 H4
PT-11 KF-1/M14x15 | M14x1.5 M16x1.5 46 115 19 H4
PT-12 KF-1/M18x1.5 M18x1.5 M16x1.5 46 | 115 24 H4
(CPTRIVAEDNEEZSL A BHES R EBE)
C {THREIS M1 M2 L | S RUERESELAS
PT-21 M10x1 . ™16 468 8 19 H2
PT-22 G1/4 M16 50.8 12 19 H2 ]
PT-23 M14x1.5 j M16 468 | 12 19 H2
%; AFPNIRY
(Bl $19.5
j E i 7 fitll= M t1 t2
; i ‘ . PT-21 | M10X1 10 13
%’\ | - PT-22 G1/4 13 16
- : ‘ PT-23 M14X15 13 16
. : |
M1
> L-66 KRR BT



C(:Lair®

IR 8 LR R T RAR S4B E

SMER T

(SN EZLRBHFSOIPEBH)

1JHRS M1 M2 L[ 1 | s | EUEEESEIES
DI-3/9/16-18UNF 9/16-18-UNF M16 468 | 12 | 19 H2
KF-1/9/16-18UNF 9/16-18-UNF M16x1.5 468 | 12 \ 19 H4
M2
BPINIRY »
J 15.6 e
] 9/16-18UNF
§ ‘ -
S
w1
(PO HE=INERESL
JRES RBES M1 M2 L I S | BONEREELES
PPT-1 PT1-00 M10x1 M12x1.25 33 8 17 H1
PPT-2 | PT1-00A1 M10x1 M16 42 8 19 H2
PPT-3 PT1-00A2 M14x1.5 M6 | 46 12| 19 H2
PPT-5 — M12x1.5 Mie 46 1219 H2
(Q)PTFRYIBENEEESL
o E M s L 1 M1 RuEREELLs 1JERRIS
M22x1.5 27 28 | 8
M27x1.5 3229 | 9 PTF-M1/M
WL M30x1.5 36 30 10 Mi2x1.25 H1 Bl M ASEESLOVIR
M36x 2 4131 11 wmie H2 ZUIM16 SEBIHERZD
s = M42x 2 50 | 35 15 IRETIM22x 1.5 RN
M BRER=EEEL M52 x 2 60 ‘ 37 17 PTF-M16/M22 x1.5
JB972-77
I M60x 2 70 39 19
(NPTSRINE RGN R
i) L h | o | speusssme
PTS-6 69.5 | 6
L
| PTS-8 70.5 8
PTS-10 10
- 72.5
GB3759-83 PTS-12 54 12
- PTS-14 14
GBI PTS-16 75.5 16 PT-3
PTS-18 \ 18
i | PTS20 915 55 20
PTS-22 93.5 22
PTS-25 96.5 58 25
PTS-28 97.5 28
> L-67 KRINFRE. BT



